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Before the 1920s. film used to be silent with just the action on the scene along with subtitles. Come the decade
of 1920 and the advent of new technology. the filmmakers had the possibility to synchronise a soundtrack with
the action on the screen. This included dialogues. musical score and special effects. After this development.
the movies were called talkies since the audience was able to hear the actors talk with each other. There was no
stopping from then on and the next significant development was the introduction of colour. However. colour
movies were somewhat slow to catch on. especially when compared to the addition of sound to the movie.
Another reason for this slow acceptance of colour was the considerable developing and processing cost it
entailed. With passing of time. and improving technology. the colour processing became as affordable as
black-and-white films. More and more movies were filmed in colour to a point when the film makers did away
with black-and-white films.

Sub questions

Question Number : 1 Question Id : 68634042434 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Movies that had no sound were called movies

1. dumb
2. mute
3. muffled
4, silent

Options :

686340167601. 1

686340167602. 2

686340167603. 3
686340167604. 4

Question Number : 2 Question Id : 68634042435 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The acceptance of colour movies was a little slow compared to the

1. simileys

| B

. selfies
3. besties
4, talkies

Options :

686340167605. 1
686340167606. 2
686340167607. 3
686340167608. 4



Question Number : 3 Question Id : 68634042436 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Colour movies were little slow on the uptake owing to their high and costs.

1. processing/ developing
2. reviewing/developing
3. filming / processing
4. filming/developing
Options :
6863401676009. 1
686340167610. 2

686340167611. 3
686340167612. 4

Question Number : 4 Question Id : 68634042437 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
The of the soundtrack to the action m the film revolutionized the process of film making.
1. stitching
2. synchronization
3. adhermng
4. business
Options :
686340167613. 1
686340167614. 2

686340167615. 3
686340167616. 4

Question Number : 5 Question Id : 68634042438 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
What 1s the main idea of the passage?
1. Film making is an easy job.
2. Advancement in technology has had a tremandous impact on film making
3. Silent movies and talkies were destined to become obsolete

4. Colour movies with a soundtrack are better than black-and-white movies with a soundtracl.

Options :



686340167617. 1
686340167618. 2
686340167619. 3
686340167620. 4

Question Id : 68634042433 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

Before the 1920s. film used to be silent with just the action on the scene along with subtitles. Come the decade
of 1920 and the advent of new technology, the filmmakers had the possibility to synchronise a soundtrack with
the action on the screen. This included dialogues. musical score and special effects. After this development.
the movies were called talkies since the audience was able to hear the actors talk with each other. There was no
stopping from then on and the next significant development was the introduction of colour. However. colour
movies were somewhat slow to catch on. especially when compared to the addition of sound to the movie.
Another reason for this slow acceptance of colour was the considerable developing and processing cost it
entailed. With passing of time, and improving technology, the colour processing became as affordable as
black-and-white films. More and more movies were filmed in colour to a point when the film makers did away
with black-and-white films.

Sub questions

Question Number : 1 Question Id : 68634042434 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Movies that had no sound were called movies
1. dumb
2. mute
3. mufiled
4, silent

Options :

686340167601. 1
686340167602. 2
686340167603. 3
686340167604. 4

Question Number : 2 Question Id : 68634042435 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The acceptance of colour movies was a little slow compared to the

1. simileys

| B

. selfies
3. besties
4, talkies

Options :

686340167605. 1
686340167606. 2
686340167607 3
686340167608. 4

Question Number : 3 Question Id : 68634042436 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Colour movies were little slow on the uptake owing to their high and costs.

1. processing/ developing

| B

. reviewing/developing

Lad

. filming / processing
4. filming/developing

Options :

686340167609. 1
686340167610. 2
686340167611. 3
686340167612. 4

Question Number : 4 Question Id : 68634042437 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The of the soundtrack to the action in the film revolutionized the process of film making.

1. stitching

| B

. synchronization
3. adhering
4. business

Options :

686340167613. 1
686340167614. 2
686340167615. 3



686340167616. 4

Question Number : 5 Question Id : 68634042438 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

What 1s the main idea of the passage?

1. Film making is an easy job.

| B

. Advancement in technology has had a tremandous impact on film making
3. Silent movies and talkies were destined to become obsolete

4. Colour movies with a soundtrack are better than black-and-white movies with a soundtrack.

Options :

686340167617. 1
686340167618. 2
686340167619. 3
686340167620. 4

Sub-Section Number : 2
Sub-Section Id : 6863401392
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 68634042439 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Choose the correct sequence of the four phrases given below to make a meaningtul sentence.
A. the tangled oak treetops that you can barely see the sky
B. moss and lichen drip so thickly from

C. i the southwest of England
D. in Wistinan's Wood in Dartmoor National Park

1.LAB.C.D

[ ]

DCB.A
3.B.D.A.C
4.C,A,D,B

Options :

686340167621. 1
686340167622. 2
686340167623. 3
686340167624. 4



Question Number : 6 Question Id : 68634042439 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Choose the correct sequence of the four phrases given below to make a meaningful sentence.

A. the tangled oak treetops that you can barely see the sky
B. moss and lichen drip so thickly from

C. in the southwest of England

D. in Wistman's Wood in Dartmoor National Park

LABC.D

| )

.D,C,B.A
3.B.D.A.C
4.C.A.D.B

Options :

686340167621. 1
686340167622 2
686340167623. 3
686340167624. 4

Question Number : 7 Question Id : 68634042440 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is a one-word substitute for "the art of beautiful handwriting"?

fa—y

. Epigraphy

[ )

. Calligraphy

Lad

. Cartography

=

. Topography

Options :

686340167625. 1
686340167626. 2
686340167627. 3
686340167628. 4

Question Number : 7 Question Id : 68634042440 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following is a one-word substitute for "the art of beautiful handwriting"?

1. Epigraphy

| B

. Calligraphy

LIPS ]

. Cartography

=

. Topography

Options :

686340167625. 1
686340167626. 2
686340167627. 3
686340167628. 4

Question Number : 8 Question Id : 68634042441 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following can be taken to be synonym for 'obstreperous'?

1. objectionable

[ ]

. sycophantic

LIPS ]

. disruptive
4. obsequious

Options :

686340167629. 1
686340167630. 2
686340167631. 3
686340167632. 4

Question Number : 8 Question Id : 68634042441 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following can be taken to be synonym for 'obstreperous'?

1. objectionable

[ ]

. sycophantic

L]

. disruptive
4. obsequious
Options :

686340167629. 1
686340167630. 2



686340167631. 3
686340167632. 4

Question Number : 9 Question Id : 68634042442 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Choose the correct pair of prepositions to fill in the blanks of the following sentence:

She walked her friend the rally to support the workers.

1. beside. during

| )

. besides. beside
3. during, beside
4. with. on

Options :

686340167633. 1

686340167634. 2

686340167635. 3
686340167636. 4

Question Number : 9 Question Id : 68634042442 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Choose the correct pair of prepositions to fill in the blanks of the following sentence:
She walked her friend the rally to support the workers.
1. beside. during
2. besides. beside
3. during. beside
4. with. on
Options :
686340167633. 1
686340167634. 2

686340167635. 3
686340167636. 4

Question Number : 10 Question Id : 68634042443 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List II

LISTI LISTII
Word Tvpe of pronoun
A lwhat I jreflexive
B. lmyself II. kelative
C. |his II1. jindefinite
D_ [somewhere IV Jpossessive

Choose the most appropriate answer from the options given below:

1. A-II. B-L. C-IV, D-III

[ ]

AT BT C-II, DIV

L]

AT B-L C-IV, D-II
4. ATV, BII. C-I, DI

Options :

686340167637. 1
686340167638. 2
686340167639. 3
686340167640. 4

Question Number : 10 Question Id : 68634042443 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List II

LISTI LISTII
Word Type of pronoun
A lwhat I jreflexive
B. jmyself II. kelative
C. |his ITT. Jindefinite
D. [somewhere IV Jpossessive

Choose the most appropriate answer from the options given below:

1. A-II. B-I. C-IV. D-III

[ ]

AT BT C-II, DIV
3. A-IIT, B-I, C-IV, D-II
4. ATV, BII. C-I, DI

Options :

686340167637. 1
686340167638. 2
686340167639. 3
686340167640. 4



Question Number : 11 Question Id : 68634042444 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Find the average of first five multiples of 3 and first five multiples of 5.

1.20

(B

.16

4,22

Options :

686340167641. 1
686340167642. 2
686340167643. 3
686340167644. 4

Question Number : 11 Question Id : 68634042444 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Find the average of first five multiples of 3 and first five multiples of 5.

1.20

b2

16

4, 22

Options :

686340167641. 1
686340167642. 2
686340167643. 3
686340167644. 4

Question Number : 12 Question Id : 68634042445 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Simplify

09-[23-32-(73-54-3.7)]

[ )
=

4,-2.6

Options :

686340167645. 1
686340167646. 2
686340167647. 3
686340167648. 4

Question Number : 12 Question Id : 68634042445 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Simplify

09-[23-32-(73-54-3.7)]

1.0.18

| )
=

4.-2.6

Options :

686340167645. 1
686340167646. 2
686340167647. 3
686340167648. 4

Question Number : 13 Question Id : 68634042446 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Perimeter of a square is same as perimeter of a rectangle. If sides of rectangle are in the ratio 17:11. then find
the ratio in the areas of the square and the rectangle.

L P58 BFEE
2. 10:9
3. 114:113

4, 196:187

Options :

686340167649. 1
686340167650. 2
686340167651. 3
686340167652. 4

Question Number : 13 Question Id : 68634042446 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Perimeter of a square 1s same as perimeter of a rectangle. If sides of rectangle are in the ratio 17:11. then find
the ratio in the areas of the square and the rectangle.

1. 17:11
2. 10:9
3. 114:113

4. 196:187

Options :

686340167649. 1
686340167650. 2
686340167651. 3
686340167652. 4

Question Number : 14 Question Id : 68634042447 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

On a certain sum of money lent at 16% per annum. the difference between the compound interest for 1year,
payable half yearly and the simple interest for 1 year is ¥ 56. The sum 1s:

1.2 5,780

[ ]
AH
=
e}
=
F



Options :

686340167653. 1
686340167654. 2
686340167655. 3
686340167656. 4

Question Number : 14 Question Id : 68634042447 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

On a certain sum of money lent at 16% per annum. the difference between the compound interest for 1year.
payable half yearly and the simple interest for 1 year 1s T 56. The sum 1s:

1.3 5,780
2.3 7.805
3.2 7.850
4,3 8,750
Options :
686340167653. 1
686340167654 2

686340167655. 3
686340167656. 4

Question Number : 15 Question Id : 68634042448 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The average age of three boys 1s 22 years. Eight times the age of the youngest of them 1s 3 times the sum of
the ages of the other two boys. Find the age of the eldest of them if he 1s 8 years older to the youngest of them.

1. 24 years
2. 25 years
3. 26 years
4. 28 years
Options :
686340167657. 1
686340167658. 2

686340167659. 3
686340167660. 4

Question Number : 15 Question Id : 68634042448 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The average age of three boys is 22 years. Eight times the age of the youngest of them is 3 times the sum of
the ages of the other two boys. Find the age of the eldest of them if he is 8 years older to the youngest of them.

1. 24 vears

| )

. 25 years
3. 26 years
4. 28 years
Options :
686340167657. 1
686340167658. 2

686340167659. 3
686340167660. 4

Question Number : 16 Question Id : 68634042449 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below is the statement followed by two conclusions numbered I and II.

Statement : Our securities investment carry market risk. Consult your investment advisor or agent before
investing,

Conclusions I : One should not invest in securities.
IT : The investment advisor calculates the market risk with certainty.

Identify which of the conclusions follows the given statement:

1. Only II follows

| ]

. Only I follows
3. Both I and II follows

4. Either I or II follows

Options :

686340167661. 1
686340167662. 2
686340167663. 3
686340167664. 4

Question Number : 16 Question Id : 68634042449 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below is the statement followed by two conclusions numbered I and II.

Statement : Our securities investment carry market risk. Consult your investment advisor or agent before
investing.

Conclusions I : One should not invest in securities.
IT : The investment advisor calculates the market risk with certainty.

Identify which of the conclusions follows the given statement:

1. Only II follows

| ]

. Only I follows
3. Both I and II follows

4. Either I or IT follows

Options :

686340167661. 1
686340167662. 2
686340167663. 3
686340167664. 4

Question Number : 17 Question Id : 68634042450 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Find the correct water image of the given figure (X)

S

Fig (x)

olalslN

Options :

686340167665. 1
686340167666. 2
686340167667 3
686340167668. 4

Question Number : 17 Question Id : 68634042450 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Find the correct water image of the given figure (X)

S

Fig (x)

olalslN

Options :

686340167665. 1
686340167666. 2
686340167667 3
686340167668. 4

Question Number : 18 Question Id : 68634042451 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In a certain coding system. 1f2=15,4=18. 6 =39 then 10 =7

1. 105

| B
Yok
=
i

4.54

Options :



686340167669. 1
686340167670. 2
686340167671. 3
686340167672. 4

Question Number : 18 Question Id : 68634042451 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In a certam coding system. 1f2 =15, 4 =18. 6 = 39 then 10 =7

1. 105

[ )

. 104
3.89
4.54

Options :

686340167669. 1
686340167670. 2
686340167671. 3
686340167672. 4

Question Number : 19 Question Id : 68634042452 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Find the mirror image of the given combination
"ANS4WMG3"
LEOMWEREZHMA
ZEDWMPSNY
33GWMt2 MV
41 ECWMYPIUY
Options :
686340167673. 1
686340167674. 2

686340167675. 3
686340167676. 4

Question Number : 19 Question Id : 68634042452 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Find the mirror image of the given combination

"AN5S4WMG3"
LEDMWEREZMA
2.EDWMPSNV
3.3GWMYR2MY
4L ECWM P2 UV

Options :

686340167673. 1
686340167674. 2
686340167675. 3
686340167676. 4

Question Number : 20 Question Id : 68634042453 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
In you were born on 6th
birthday fall in 19847

November. 1983. which was a Sunday. then on which day of the week does your

1. Monday

2. Wednesday
3. Tuesday

4, Friday

Options :

686340167677. 1
686340167678. 2
686340167679. 3
686340167680. 4

Question Number : 20 Question Id : 68634042453 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In you were born on 6" November, 1983. which was a Sunday. then on which day of the week does your
birthday fall in 19847

1. Monday

b2

. Wednesday

L

. Tuesday

=

. Friday

Options :

686340167677. 1
686340167678. 2
686340167679. 3
686340167680. 4

Question Number : 21 Question Id : 68634042454 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Satellite having the same orbital period as the period of rotation of the earth about its own axis 1s known as

1. Polar Satellite
2. Stationary Satellite
3. Geostationary Satellite
4. INSAT
Options :
686340167681. 1
686340167682. 2

686340167683. 3
686340167684. 4

Question Number : 21 Question Id : 68634042454 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Satellite having the same orbital period as the period of rotation of the earth about its own axis is known as

1. Polar Satellite

[ B

. Stationary Satellite

3. Geostationary Satellite

f-%

INSAT



Options :

686340167681. 1
686340167682. 2
686340167683. 3
686340167684. 4

Question Number : 22 Question Id : 68634042455 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List II

LISTI LISTII
Aluminium company Location
A [BALCO I HIRAKUND
B. HINDALCO II. [KORBA
C. |Indian Aluminum Company III. [KORAPUT
D. [NALCO IV [RENUKOAT

Choose the most appropriate answer from the options given below:

1. A-III, B-I, C-IV, D-II

[ ]

AL B-TV, C-1, D-III

L]

AT B-IV. C-1, D-II
4. AT B-1, C-IV, DI

Options :

686340167685. 1
686340167686. 2
686340167687. 3
686340167688. 4

Question Number : 22 Question Id : 68634042455 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List II

LISTI LISTII
Aluminium company Location
A [BALCO I HIRAKUND
B. HINDALCO II. [KORBA
C. |Indian Aluminum Company III. [KORAPUT
D [NALCO IV [RENUKOAT

Choose the most appropriate answer from the options given below:

1. A-III, B-I, C-IV, D-II

[ ]

AL B-TV, C-1, D-III
3. AIIL, B-IV, C-1, D-II
4. A1 B-1, C-IV, DI

Options :

686340167685. 1
686340167686. 2
686340167687. 3
686340167688. 4

Question Number : 23 Question Id : 68634042456 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The speaker can stop a member of Parliament from speaking and let another member speak. This phenomenon
is known as

1. Decorum

| )

. Crossing the floor

[F%]

. Interpellation
4. Yielding the floor

Options :

686340167689. 1
686340167690. 2
686340167691. 3
686340167692. 4

Question Number : 23 Question Id : 68634042456 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The speaker can stop a member of Parliament from speaking and let another member speak. This phenomenon
is known as

1. Decorum

| )

. Crossing the floor

Lad

. Interpellation
4. Yielding the floor

Options :

686340167689. 1
686340167690. 2
686340167691. 3
686340167692. 4

Question Number : 24 Question Id : 68634042457 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List II

LISTI LISTII
Religious Institution Founder
A |Arva Samaj I. |Gopal Krishna Gokhle
B. [Famakrishna Mission II. N M Joshi
C. |Servant of Indian society IT1. [Dayanand Saraswarti
D_ |Social Sevice League IV |Swami Vivekananda

Choose the most appropriate answer from the options given below:

1. A-IIL, B-IV. C-II. D-I

[ ]

AL B-IV. C-1, D-IT
3. A IV, B-III, C-1, D-II
4. A-II B-TV, C-1, D-1II

Options :

686340167693. 1
686340167694. 2
686340167695. 3
686340167696. 4

Question Number : 24 Question Id : 68634042457 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List II

LISTI LISTII
Religious Institution Founder
A |Arva Samaj I. |Gopal Krishna Gokhle
B. [Famakrishna Mission II. N M Joshi
C. |Servant of Indian society IT1. [Dayanand Saraswarti
D_ |Social Sevice League IV |Swami Vivekananda

Choose the most appropriate answer from the options given below:

1. A-IIL, B-IV. C-II. D-I

[ ]

AL B-IV. C-1, D-IT
3. A IV, B-III, C-1, D-II
4. AT B-IV, C-I, DT

Options :

686340167693. 1
686340167694. 2
686340167695. 3
686340167696. 4

Question Number : 25 Question Id : 68634042458 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Point of origin of earthquake wave is known as

1. Seismic zone
2. Focus
3. Photosphere
4, Epicentre

Options :

686340167697. 1

686340167698. 2

686340167699. 3
686340167700. 4

Question Number : 25 Question Id : 68634042458 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Point of origin of earthquake wave is known as

1. Seismic zone

2

. Focus

LFS]

. Photosphere
4, Epicentre

Options :

686340167697. 1
686340167698. 2
686340167699. 3
686340167700. 4

Part B: Mathematics

Section Id : 686340836
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 6863401393
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 68634042459 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Let /:Z — Z, be a homomorphism of groups defined by

. 0, if ais even
Fia)e 1, if aisodd
then Kerf is :
1. The set of all odd integers
2. The set of all even integers

3. The set of all natural numbers

4. The set of all real numbers

Options :



686340167701. 1
686340167702. 2
686340167703. 3
686340167704. 4

Question Number : 26 Question Id : 68634042459 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

0, ofzq aa#

ﬂHT_f:Z—»ZI'\EIIIﬁ Pt gHEIHIRGI § 9 _f'(a) =
].. e gfm g

R gRRa 8,

a9 Kerf 8:
1. Wit faww guries! &1 9=
2. gl 9w quiien] &1 9=y
3. g4l Urpide Jensi &1 gy

4. gl ATKifdd G131 1 Y=

Options :

686340167701. 1
686340167702. 2
686340167703. 3
686340167704. 4

Question Number : 27 Question Id : 68634042460 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The order of 16 111(.5’;24 y a4 ) 1s:

1.2

|
%)

4.6

Options :

686340167705. 1
686340167706. 2
686340167707. 3
686340167708. 4

Question Number : 27 Question Id : 68634042460 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(Zpys 494 ) F 16 F B R:

1.2

| B
L%

3.4

4.6
Options :
686340167705. 1
686340167706. 2

686340167707. 3
686340167708. 4

Question Number : 28 Question Id : 68634042461 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Which one of the following is correct :-
1. Z is an ideal of Q
2. Zisanideal of R
3.Qis anideal of R
4. nZ 1s an ideal of Z, where n 1s an integer
Options :
686340167709. 1
686340167710. 2

686340167711. 3
686340167712. 4

Question Number : 28 Question Id : 68634042461 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
e & 9 & F 91 0P 981 & -

 Z.Q &1 U T[UISIdal §

 Z. R TS TUlaa §

Q. R &1 US TURIadll &

. 0Z. Z 1 U UISIaa! 8. 58l o b qUiies §

Options :
686340167709. 1

oy

| )

[#5]

=



686340167710. 2
686340167711. 3
686340167712. 4

Question Number : 29 Question Id : 68634042462 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

s z -
. . 1l 2 3 4 5 6 7
The order of the given permutation _

= 2 6 1 7 3

b S =

[
sl

4.6

Options :

686340167713. 1
686340167714. 2
686340167715. 3
686340167716. 4

Question Number : 29 Question Id : 68634042462 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

WWW|;23456789¢D[E€I%%_

4 61 7 3 8 9 5)

1.4

4.6

Options :

686340167713. 1
686340167714. 2
686340167715. 3
686340167716. 4

Question Number : 30 Question Id : 68634042463 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of he following 1s incorrect 7

1. Z is a subring of the ring (Q, +, -) of rational numbers

| )

. Q is a subring of the ring { R, +, ) of real numbers
3. C is a subring of the ring ( R, +, ) of real numbers
4. Set E of even integers is a subring of the ring ( Z, +, ) of integers

Options :

686340167717. 1
686340167718. 2
686340167719. 3
686340167720. 4

Question Number : 30 Question Id : 68634042463 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFafafed d S sH-T Ted & -

1. Z IRAT S & Il (Q, +, -) P 3UGed ©

b2

. Q aIifde RT3l & aerd (R, +, -) BT JUded §
3. C AIfde @Sl & 9 (R, +, ) 1 IUG0T ©

4. 9 qUITepT BT =T E YUiieh] & 90 (Z, +, -) T UG §

Options :

686340167717. 1
686340167718. 2
686340167719. 3
686340167720. 4

Question Number : 31 Question Id : 68634042464 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements
Statement I : Ewvery cyclic group is abelian

Statement IT : (Z.+) 1s a cyclic group with 1 and -1 as the only generators

In the light of the above statements . choose the most appropriate answer from the options given below

1. Both Statement I and Statement II are correct
2. Both Statement I and Statement II are incorrect
3. Statement I is correct but statement II is incorrect

4. Statement I is incorrect but statement I1 is correct

Options :

686340167721. 1
686340167722. 2
686340167723. 3
686340167724. 4

Question Number : 31 Question Id : 68634042464 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

S IEEAE ISR ARl I

FUT 1 : YA Ib1T THE e 8

FYAIL: (Z+) UH D10 B & [ord o1 hael 1 quT-13 |

SWRIFd DY P il | i f3U U fas el 1 3 9a8 Suge Jax &1 90+ Hif ;
1. BT AR 1L ST Tl €
2. BYF1 3R 11 S T §
3. PYTIHel & . Al YT 11 70d §
4. PYTITAA S . AP DU TSI &

Options :

686340167721. 1
686340167722. 2
686340167723. 3
686340167724. 4



Question Number : 32 Question Id : 68634042465 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements

Statement I : Let G a finite group and H a subgroup of G. Then . the order of H is a divisor of the order of G.
That 1s . [H| divides |G|

Statement II : Let a be an element in a finite group G . Then ., O(a) divides |G

In the light of the above statements . choose the most appropriate answer from the options given below
1. Both Statement I and Statement IT are true
2. Both Statement I and Statement II are false
3. Statement I is true but statement IT is false

4. Statement [ is false but statement II is true

Options :

686340167725. 1
686340167726. 2
686340167727. 3
686340167728. 4

Question Number : 32 Question Id : 68634042465 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR Fuafeumug

HYF1 : g1 G U URIHT THE § aUT H, G DI SUHLE 6. a9 . H DI DIIC G Bl DIIE BT ISP 3 |
ufaH]. 6| @ faufoa FRar e

HYF 11 : AT 2 URIA 968 6 © TS 3@9a 8, 99 0(a). |G| DI TGuSa #=ar g |
SWRIgd BT & el J . 1= U T fadedl # § F61 SR &1 90 DI -
1. HY 1 R 11 S T &
2. TY [ AR 11 T S &
3. PUTIHA S, A pUT 11 3T

4 PYTI IS . AfPTPYI I II S

Options :



686340167725. 1
686340167726. 2
686340167727. 3
686340167728. 4

Question Number : 33 Question Id : 68634042466 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let F : R* > R%be the linear mapping defined by :
F(x,3:,2,1) =(x—y+z+r, 26— 2p+3=2+ 4, 3x -3y + 4=+ 5), then nullity (F) equals

1.0

b2
—

4.3

Options :

686340167729. 1
686340167730. 2
686340167731. 3
686340167732. 4

Question Number : 33 Question Id : 68634042466 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A F R - R ues YRee wiafmn & off e yeR aiviva © -

Flx,pz,t) = (x-y+z+120-2y+3z+41,3x-3p+4z+5), A€ AT (F) g6 % -
1.0
21
3:2
4.3
Options :

686340167729. 1
686340167730. 2
686340167731. 3
686340167732. 4

Question Number : 34 Question Id : 68634042467 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1 3 | -2 -3

: | 4 3 [

The rank of matrix A = T .

g T R

3 B | -7 -3
1.4
2.3
3.2
4.1

Options :

686340167733. 1
686340167734. 2
686340167735. 3
686340167736. 4

Question Number : 34 Question Id : 68634042467 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 2 -3
3 1 -4 G‘ﬁ =
i S Ll e-
1 -7 -8

Solg A=

Gl D e
S bk J=

[
L

4.1

Options :

686340167733.
686340167734.
686340167735.
686340167736.

AW N =

Question Number : 35 Question Id : 68634042468 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



-

3 : : : :
N then the matrix B that represents the linear operator A relative to the basis

s ={w,uw2}={[1,3]",[2,5] }.is

e |

Let.’\:[

P

[33 8
132 54
L [-53 -89
132 54
g 53 55
198 23
[53 23]
4.
189 45 |

Options :

686340167737. 1
686340167738. 2
686340167739. 3
686340167740. 4

Question Number : 35 Question Id : 68634042468 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

mm:[j i}.aaamﬂ?Sz{ul.uzjz{[l,s]r,[z,S]T}aiﬂﬁai“@uwwaﬁwﬁaﬁﬁ
HYEBE -

1 (53 89]
132 54
5 [-53 —89]
132 54
. 53 55]
|98 23
[53 23]
4,
189 45 |

Options :

686340167737. 1
686340167738. 2
686340167739. 3
686340167740. 4



Question Number : 36 Question Id : 68634042469 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Consider the following linear equations :-

3x+Ty+z=0

Sx+9y—z=0

Ox + 13y +kz=

For what values of k the above system of equations has an infinite number of solutions -

1.2

4.6

Options :

686340167741. 1
686340167742. 2
686340167743. 3
686340167744. 4

Question Number : 36 Question Id : 68634042469 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frafafag W gdieo ey i) fdgR S

3Ix+Ty+z=0
5x+9y—z=0
Ox+13y+kz=0

k& frg O & fou gHieRull & s Ao/ & sFA<igd s -

4.6

Options :

686340167741. 1
686340167742. 2
686340167743. 3
686340167744. 4



Question Number : 37 Question Id : 68634042470 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements

9

2
Statement [ : If A = L J . then sum of eigenvalues of Ais 3 .

1

Statement II : If ). is an eigenvalue of T, where T is invertible linear operator, then 71 is an eigenvalue of T

In the light of the above statements . choose the correct answer from the options given below

1. Both Statement I and Statement I are true
2. Both Statement I and Statement II are false
3. Statement I is true but statement II is false

4. Statement [ 15 false but statement II is true

Options :

686340167745. 1
686340167746. 2
686340167747. 3
686340167748. 4

Question Number : 37 Question Id : 68634042470 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I AIC R R
FUAT: Tfg A —[‘? }.@A%ﬁ%&iﬁlﬁﬂﬁfﬁﬁj%i

2
3

HUF 11 : TS T BT TS T 5. 8. 961 T gepHuiia Y& vaes 3. 96 7! &1 sifiaafimes ae
A lg|

JWRIFT BYF & AP 1 . A (U T [ddmed] § U el SR &1 999 DI -
1. HU 1 IR 11 SHI T &
2. B SR GHI 3EA §
3. FUT IO S, AP FYH 11 3 &

4, PYTITI S . AfPTPU I I ©

Options :



686340167745. 1
686340167746. 2
686340167747. 3
686340167748. 4

Question Number : 38 Question Id : 68634042471 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A. Suppose U and W are finite - dimensional subspace of a vector space V. then dim (T+W) =dim U + dim W —
dim (UNP) |

B. let V' = k"W ={{a.b,c:020)}, then W is a subspace of V

C.Ifu=(1,2),v=(3,-5). then u and v are linearly independent

D.(1.1.1) and (1.0.1) form a basis of R?

choose the most appropriate answer from the options given below

1. A C Only

|

.A. D Only
3.B. C Only

4. B.D Only

Options :

686340167749. 1
686340167750. 2
686340167751. 3
686340167752. 4

Question Number : 38 Question Id : 68634042471 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A AU R w gl 99fP v & wifaa ot Suafay § . 99 dim (U+) = dim U+ dim W — dim
(UNW)

B.HFIV =R W = {[a.h,c:a > 0)1. d VeI Sy W

c.gfzu=(1,2),v=(3,-5) qa 4 qur JYePg @i &

D. (1.1.1) TYT (1.0.1). R? &1 HTUYR &1d &

- feu T fowedt & 9 ged S9gad SR &1 994 B ;
1. A, C Paq

A, DHad

3.B.C $dd

4.B,D ®ad

2



Options :

686340167749. 1
686340167750. 2
686340167751. 3
686340167752. 4

Question Number : 39 Question Id : 68634042472 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List II

LISTI LISTII

R A squaxe.m_a}rle 1s said to be 1 la=a

symmetric it
B. A square matrix _15115 said to be o e

skew symmetric if
C. |If A is any square matrx then I1T. A _h_x is a symmetric

matrix

D. [[f A 1z anv square matrx then IV A-Alisa

skew symmetric matrix

Choose the correct answer from the options given below:

1LALBILCII DIV

2ZALBILCILDIV

3J.LAIVBILCIL DI

4 AILBILCLDIV

Options :

686340167753. 1
686340167754. 2
686340167755. 3
686340167756. 4

Question Number : 39 Question Id : 68634042472 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



a1 1 1 i 11 & |1y fHe iy -

LISTI LISTII
A [ 3Togg A TR deardl & 4ig 1 Ja=a
B. [ 318 A fud - gHfAT deardi e O | 1 fa=-a
C. afe A DT T A & 08 1L |a +A' THFd HOE &
D. [af¢ A DI 37 Mg & I IV. [a-A' TawH-5=10d o108 o
frafeRad faeedi o I 98l GOk &1 99 Sifor .

1LALBILCIIL DIV

-2

CALBIULCILDIV

JAIVNBILCILDI

4 AILBILCILDIV

Options :

686340167753. 1
686340167754. 2
686340167755. 3
686340167756. 4

Question Number : 40 Question Id : 68634042473 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If f(x.y)=+" +»" +6x+12 then mimimum value of f is:

1.39

-
L¥¥]

4.8

Options :

686340167757. 1
686340167758. 2
686340167759. 3
686340167760. 4

Question Number : 40 Question Id : 68634042473 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



S f(xy)=a’+ 37 +6x+12, T DT GATHAF G -

139

L
L]

3.12
4.8

Options :

686340167757. 1
686340167758. 2
686340167759. 3
686340167760. 4

Question Number : 41 Question Id : 68634042474 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

xt—y?
e whenx£0, v20

The function f(x,y) =1+ +* 1s continuous at (0.0) , then k is equal to :
w ko ,whenx=0y=0
1.2
2.3
3.1
4.0

Options :

686340167761. 1
686340167762. 2
686340167763. 3
686340167764. 4

Question Number : 41 Question Id : 68634042474 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



BT f(ry)=t2,2 " 00 RIGA R, de kTR ¢

| , g r:fh_L:ﬂ

| ]
L¥¥]

4.0

Options :

686340167761. 1
686340167762 2
686340167763. 3
686340167764. 4

Question Number : 42 Question Id : 68634042475 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

Homogeneous function Degree
T T
: x4 p?
A |f(ry)=""5 L |3
x2 4+ y?
: TE Y
B |flxy)=—7F—F L 1
WX+ \f.“' 2
4 4
. X +y
c|f(x,y)=—— . 1
xX+y
F Illrj +}'{ ]_
D. | f(xy)=t0—= v [-—
f [: : } V’; + \‘lll_l' 6

Choose the correct answer from the options given below:

1LLAILBIV.CL.DIII

ZZAIVBILCILDIII

JAINLBLCILDIV

4 ALBILCIV.DII

Options :

686340167765. 1
686340167766. 2
686340167767. 3



686340167768. 4

Question Number : 42 Question Id : 68634042475 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 1 1 gl 11 ¥ [ Sifor
THUTd AT GIG]
1 1
Alfry)=222 1|3
x2 4yl |
r+v
flxe,y)=—/—— =
B. |[f&¥)=7=r e
4 4
. x +y
c |f(x,y)=——m|i
X+y
N 1
D | flxy)=2"2 |v|-=
Jr[:r-h) \";4' \‘lll_l' 6
fafaRad faeedl O ¥ 981 SR &1 994 DIfel -

1LAILLBIV.CL.DIII

-2

CAIV,BILCL DIII

JJAILBLCILDIV

4 ALBILCIV.DII

Options :

686340167765. 1
686340167766. 2
686340167767. 3
686340167768. 4

Question Number : 43 Question Id : 68634042476 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ol x+3 2 2 —sinu cos 2u .
Ifu =sin”' | == |and x"u,, +2xyu,, + y-u, =——————then. mis equal to:

Jx ¥ m- cos” u
\j'_

1.2
2.4
3.2
4.1

Options :

686340167769. 1
686340167770. 2
686340167771. 3
686340167772. 4

Question Number : 43 Question Id : 68634042476 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

J;—J_r moeos’

y X+7y 3 3 —sinu cos 2u
?Ilﬁ u=sin" |:-—r-——-——'} ]H?ﬂ XUy + 200+ y U, =————— d9 m §E %:

1.2

4.1

Options :

686340167769. 1
686340167770. 2
686340167771. 3
686340167772. 4

Question Number : 44 Question Id : 68634042477 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



oo _"r:
The infinite series Z [] + l} 18

=]
1. Convergent
2. Divergent
3. Oscillating finitely
4. Oscillating infinitely

Options :

686340167773. 1
686340167774. 2
686340167775. 3
686340167776. 4

Question Number : 44 Question Id : 68634042477 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

) _”: e
3T Soit Z [+ 1) 3.
n=1 H
1. HERT
HUgRL
3. ifea giaAt
4. T gra-t
Options :
686340167773. 1
686340167774. 2

686340167775. 3
686340167776. 4

| )

Question Number : 45 Question Id : 68634042478 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



o 3“
The infinite series E 18:
n+2
n=l1 4

1. Divergent to o=

I
. Converges to —
16

| )

-

3
3. Converges to —

16

4. Converges to —

Options :

686340167777. 1
686340167778. 2
686340167779. 3
686340167780. 4

Question Number : 45 Question Id : 68634042478 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1. o O ORI

.%ma{f‘wﬁﬁ

3.%@3@?&?
b

4&@3@?{%

| )

Options :

686340167777. 1
686340167778. 2
686340167779. 3
686340167780. 4

Question Number : 46 Question Id : 68634042479 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



If f and g are two continuous function on their common domain D, then

A. £+ gis continuous on D
B. f — g is continuous on D
/. .
c. L is continuous on D —{ x : g(_r) =0!
" f |
D. of'1s continuous on D, where @ is any real number

E. ;L is continuous on [ — {_:r 2 (x)= U}

choose the correct answer from the options given below

1.LA.B.D.E

| )

SBASSGR
3.A,B.CE
4. AB.CD
Options :
686340167781. 1
686340167782. 2

686340167783. 3
686340167784. 4

Question Number : 46 Question Id : 68634042479 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
g £TUT g 30 IHTHE W D § 3l Tad Ba-1 6. a9
Af+e DRIAdS

B. f— g DWRIAA e
. i,]:}—{l':,ﬁ(_r}:ﬂ}qua
D. of, D IR UAd ¢ 961 o Plg dRdidd I ©
E. fi ])—{_x:f{x}—ﬂ}ﬂ?ﬂﬁﬁ%
A fau e fomedi § 9§ Tgl 3R &1 994 Doy

1.LAB.DE

b2

B, EDLE
3.A.B.CE
4 AB.CD

Options :
686340167781. 1



686340167782. 2
686340167783. 3
686340167784. 4

Question Number : 47 Question Id : 68634042480 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A. fix) be a real function defined on an mterval [a.b]. f{x) have to be maximum value in[a.b], if there exists
a points ¢ in [a.b] such that f(x) = f(¢) for all x € [a.b]

B. Let fix) be a real function defined on an mterval [a.b]. flx) is said to have the mimmum value in interval
[a.b], if there exists a point ¢ € [a.b] such that f(x)< f(c) for all x € [a.b]

] . A
C.fix)=—x—-1)- + 2, x € R. max value = 2, min value does not exist
D. t(x)=—x+ 1 +3, x € R, Max. values = 3, min value = 2

choose the correct answer from the options given below:

1.ABC

[ )

B, 2, D
AL
4 A.B.C.D

Options :

686340167785. 1
686340167786. 2
686340167787. 3
686340167788. 4

Question Number : 47 Question Id : 68634042480 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A. T Ax) SRI [a,b] TR IRHITNG aRdid® B 6l . /() [a.b] H S3aH AF QA1 § T14 [a,6] B
[5 c SHWPR TS 6 1 (92 (o). x T . x € [0,5] P [T

B. A flx) RId [a,b] TR ORI G DA © | Ax). [o,6] B FRaA AR @A s AfE g c e
[a.b] H 5 USR faem@M ©. £ (x) < / (¢). 90 x € [a,5] & foTT

C. fX)=—(x—1P? +2.x€R. FAGH A =2 . FEaH O Afga B 7T ©

D. f(x)=—x+1/+3.x € R 3qH AF = 3 . AdH A= 2

12 fay 7 faeedt # 9 wel SR @1 9w S

1.A.B.C

2:B €D
3.A:C
4 A B.C.D

Options :

686340167785. 1
686340167786. 2
686340167787. 3
686340167788. 4

Question Number : 48 Question Id : 68634042481 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List II

LISTI LISTII
y is MMonotone and
Series 2473
ay;, [Prenies n=l = L convergent both
)
n-
o ~
B Senesz 5 18 I |2
n=] n
s w24l
C. | lim nl III. [Divergent to oo
n—w\ H+2
1 1 | ;
D. [seqenee x, = I—q—| +; ...... + ; for ne N| IV. |Convergent

Choose the correct answer from the options given below:

1LAIV.BILCIL DI

| B)

ANLBIV,CI, DI
CALBIL €L DIV

4 AIV.BLCILDII
Options :

686340167789. 1
686340167790. 2
686340167791. 3
686340167792. 4

Question Number : 48 Question Id : 68634042481 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



a1 1 1Y Gt 11 1 0 Sifere

il il
- E l
" MZ—] I [uefep qur g a=f
n=l
”2
) o0 3?’?
B. H'Uﬂz—jé IL |~
=] -
/ 24l
-re n+l] 2 I 3O oo TR
n—ol 0+ 2
D. SWI.._, =1+ j]. | ;I. F oo I.:| forne N | TV. &rfw
- fau e fdeedt & 9 9ol IR &1 98- Doy

LAIV,BIILCII, DI

| o

AINLBIV.CLDII
JALBILCIL DIV
4 AIVBLCILDII

Options :

686340167789. 1
686340167790. 2
686340167791. 3
686340167792. 4

Question Number : 49 Question Id : 68634042482 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The set of all points. where the function f(x) = 1s differentiable . is

[ ]
e
3

Q

Options :

686340167793. 1
686340167794. 2
686340167795. 3
686340167796. 4



Question Number : 49 Question Id : 68634042482 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

il fergafl o1 g, ST e / (1) = [y S B, 8 -

1+| |
1. (U', oo )
2. ( —c0, 00 }
3. (—o0,0)U(0,0)
4.[-1,0]
Options :
686340167793. 1
686340167794. 2

686340167795. 3
686340167796. 4

Question Number : 50 Question Id : 68634042483 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 l |

The value of lim —| 1422 + 334 .,,n; 15
=K J']
1.0
2.-1
3.1
4.2
Options :

686340167797. 1
686340167798. 2
686340167799. 3
686340167800. 4

Question Number : 50 Question Id : 68634042483 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



| | |
lime| 1422 437 4 07 HIOFE :-

n—= g

| ]
1
iy

4.2

Options :

686340167797. 1
686340167798. 2
686340167799. 3
686340167800. 4

Question Number : 51 Question Id : 68634042484 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

; T 5 I : I @oT|.
The value of C i Rolle's theorem where — % <(C< 2 and f(x)=cosx on [— —,— | 1s equalto:
2 2

b2
=

Options :

686340167801. 1
686340167802. 2
686340167803. 3
686340167804. 4

Question Number : 51 Question Id : 68634042484 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



L]

0 WA 3 T G, e~ 2 < C < 2 /(1) =com [_E %}R%;

1.:0

!_J
=

=
|y

Options :

686340167801. 1
686340167802. 2
686340167803. 3
686340167804. 4

Question Number : 52 Question Id : 68634042485 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements

Statement [ : Draw back in Lagrange's method of undetermined multipliers is that nature of stationary point
cannot be determmed

=l
a-l 1 .
Statement IT : Z (— ]) 18 convergent
n=l ”‘\}l’;

In the light of the above statements ., choose the correct answer from the options given below

1. Both Statement I and Statement II are true
2. Both Statement I and Statement I are false
3. Statement I is true but statement II is false

4, Statement [ is false but statement II is true

Options :

686340167805. 1
686340167806. 2
686340167807. 3
686340167808. 4

Question Number : 52 Question Id : 68634042485 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

+d gl pyF qu U §
HYA1: AYIRG Ui @1 s fafy & g5 Sl § o we fag @1 yefa Ruffa 981 1 o gadi 8

w3 (-1) = s

mn

SWRId DY B il | | i U U fao el § ¥ 968 Sugad Ik &1 98- Hiforg

1. B SR 1 S Uel ©
2. FYF 1 AR 11 EHI Tad &
3. PUT 1Tl ¢, - YT 1 7Ted &

4. BYTITAd & . Afs HYT 11 ol &

Options :

686340167805. 1
686340167806. 2
686340167807. 3
686340167808. 4

Question Number : 53 Question Id : 68634042486 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

. dz . |
The value of the 111‘{&_91‘31('{) — L |Z| =1is
A St
C

[ )

Options :

686340167809. 1
686340167810. 2
686340167811. 3
686340167812. 4



Question Number : 53 Question Id : 68634042486 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

dz

——.,C:|z|= 1w’
3_3

el

[ B

bid ]
-
i |

Options :

686340167809. 1
686340167810. 2
686340167811. 3
686340167812. 4

Question Number : 54 Question Id : 68634042487 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2 £72+1

The value of j 3z dz. where C is the circle |z| = —é 1s
.

z+1

1.0

[
ik

Options :

686340167813. 1
686340167814. 2
686340167815. 3
686340167816. 4

Question Number : 54 Question Id : 68634042487 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



jlwdzaﬂm%.aﬁcqmngﬁ

z+1

| B
ik

4, 2w

Options :

686340167813. 1
686340167814. 2
686340167815. 3
686340167816. 4

Question Number : 55 Question Id : 68634042488 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
1-+i i
If." (‘1-2 - fy] dz=a+if along the path y = x, then value of @ — S 1s:
U -

1.0

[
[

4.3

Options :

686340167817. 1
686340167818. 2
686340167819. 3
686340167820. 4

Question Number : 55 Question Id : 68634042488 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
L4i
akuy y = x%mamujﬂ”(ﬁ ~iy)dz=a+if & T a-fRTATE

1.:0

| ]
[



Options :

686340167817. 1
686340167818. 2
686340167819. 3
686340167820. 4

Question Number : 56 Question Id : 68634042489 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If 4 = % — 2 is real part of an analytic function f(z). then f(z) is:

1.Z

Options :

686340167821. 1
686340167822. 2
686340167823. 3
686340167824. 4

Question Number : 56 Question Id : 68634042489 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

afe u = x° - y* f4RANS Be fz) BT IRAAS HIT €. T8 A7) W ©

|

4. z+i

Options :

686340167821. 1
686340167822. 2
686340167823. 3
686340167824. 4

Question Number : 57 Question Id : 68634042490 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which one of the following is harmonic function
) )
L f(x,y)=x"—y" —2xy—2x+3y
Ay T - 3
2. f(x,y)=x"+y
3. f(x,¥)= x* +J,"4 - Xy
4. f (_1‘,_1-‘} . .1-‘2 +2xy

Options :

686340167825. 1
686340167826. 2
686340167827. 3
686340167828. 4

Question Number : 57 Question Id : 68634042490 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fafafea d A oH- O te udadl B g : -
L f (x3)= x? =y —2xy—2x+3y
2. f(x,¥)= 4y
3. f(.\'._]»') = x* +}"1 — Xy
4. f(x,p)=x>+3* +2xp

Options :

686340167825. 1
686340167826. 2
686340167827. 3
686340167828. 4

Question Number : 58 Question Id : 68634042491 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : one is labelled as Assertion A and the other 1s labelled as Reason R

,,
: z°+6z+2 : .
Assertion A : The integral I— dz = (). where C 1s the circle ‘ZE =3
& E—i

Reason R : If there is no pole inside and on the contour C. then the value of the integral of the function along

C is zero
In the light of the above statements . choose the correct answer from the options given below

1. Both A and R are true and R 1s the correct explanation of A
2. Both A and R are true but R is NOT the correct explanation of A
3. A s true but R 1s false

4, A is false but R is true

Options :

686340167829. 1
686340167830. 2
686340167831. 3
686340167832. 4

Question Number : 58 Question Id : 68634042491 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

9 & U AU MU § : U ST UFHYT (ASSERTION A) & w0 fafad § df §¥RT 39 HRUI (REASON
R)F =0T

2 46z +2

SHHPUT A FHDA [ = dz=0,96 C g || =3%
!

T

PRUIR : gie giEr & ftar aur aRar R &1 Wt 3F-a@ 81 §., 99 e &1 ¢ & 91y -91Y JH16Hd &1
T I BT

4 fau e fawedl & 9 98l SR @1 904 Sifey

1. ASRREH 9 € SRR . AT F8l AT &
A SRR M 9 8, A R A D] T8l I 781 §
AFIE. AR EA T

4 ANTIE. APTR I

b2

L¥ 5]

Options :
686340167829. 1



686340167830. 2
686340167831. 3
686340167832. 4

Question Number : 59 Question Id : 68634042492 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
]
A f ( Z ) =% & 1. [Not analvtic anv where
B f (Z) =— IT. |Analytic at Z=0 enly
Z
C. f (Z ) = E III. Analyvtic evervwhere
D. f[ Z) =y IV. [Not analyticat Z=0

Choose the correct answer from the options given below:

lLALBILCII DIV

2ZAILBL.CIV.DIII

JLCAILBIV.CLDII

4 AIVBIULCILLDI

Options :

686340167833. 1
686340167834. 2
686340167835. 3
686340167836. 4

Question Number : 59 Question Id : 68634042492 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1S Y g1 o1 e Sifee

GIED i GER
A f‘(z):z‘3 1. ﬁﬂlﬁw :@[%

IL [dhael Z=0 R facifa g

t 111 [gaft 57 famaft® &
m | flz)=z2 IV. | Z=0 IR fa=cifies 751 &

-4 feu e fowenl O 9 el SR &1 994 Siforg

LALBILCILDIV

2ZZAILLBL.CIV.DIII

3AILBIV.CLDII

4 AIVNBILCILDI

Options :

686340167833. 1
686340167834. 2
686340167835. 3
686340167836. 4

Question Number : 60 Question Id : 68634042493 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A f(2) 18 analytic then U, =¥,.U, =-F;
B. Polar C—R equation is U, = ll"{;.U” =—rV,
r

C. Two curves are said to be orthogonal to each other, when they intersect at acute angle at each of their points
of intersection

dz i . I

D.I = 271 where ( :|-:—1I=—

z-1 2

C

choose the correct answer from the options given below:

1. A.B. C Only

[ ]

.B. C.D Only

L

.A B .D Only
4.A.C.D Only

Options :

686340167837. 1
686340167838. 2
686340167839. 3
686340167840. 4

Question Number : 60 Question Id : 68634042493 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A fo) foates g dav, =r.0, =7,
o
B.YRAG C—R FHIBRYT U, = —V,, U, =V, §

7

C. &l % U g3 & DU hedld & o 3-8 4 U Hidsal [dgsil U YAH 0 UR Hides $d o

dz o
———:Zﬁaaacwz_”:

, 1
dz- 2
9 fau e fawedl o 9 98l SR @1 90 Biforg
1.$dd A, B.C
2. Hdd B, C,D
3. %0 AB.D
4.PITALC.D

Options :



686340167837. 1
686340167838. 2
686340167839. 3
686340167840. 4

Question Number : 61 Question Id : 68634042494 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Let 73 — 7 where Z 1s a complex number on the unit circle then Z is a solution of
1.22=1
2.2%=1
3.2%=1
4.2°=1

Options :

686340167841. 1
686340167842. 2
686340167843. 3
686340167844. 4

Question Number : 61 Question Id : 68634042494 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

O 2* = Z, 918t Z STE g UR Wiy e . 79 Z SHER0 HITAD: -

2

1.Z&%=1

2.73=1
3.Z%=1
4.7°=1

Options :

686340167841. 1
686340167842. 2
686340167843. 3
686340167844. 4

Question Number : 62 Question Id : 68634042495 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



If f(x+iv)=x"=3x" +i¥(x,y) where ;=27 and f(x+iy)is an analytic function. then P (_x',y) E

Ly’ -3x’y

2. 313)* — y"

3. x4 —4x%y

4. xy—-y*
Options :

686340167845. 1
686340167846. 2
686340167847. 3
686340167848. 4

Question Number : 62 Question Id : 68634042495 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e f(x+iv)=x"=3xp" +i¥ (x,y) S&T /(T TUT /7 (x+iy) TP (GRS BAT 6. 09 W (x, ) &

Ly®=3x%y
2.3x%y—y°
3.x% —4xy
4n=y:

Options :

686340167845. 1
686340167846. 2
686340167847. 3
686340167848. 4

Question Number : 63 Question Id : 68634042496 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements
Statement I : If /(z) = u + 1v 13 an analytic function. then u and v are both harmonic function .
Statement IT : If {(z) is analytic within and on a closed curve C. and if a 1s any point within C. then

fla)= : Imd:

Imic z—a

In the light of the above statements . choose the most appropriate answer from the options given below

1. Both Statement I and Statement II are correct

b2

. Both Statement I and Statement II are incorrect
3. Statement I is correct but statement II is incorrect

4. Statement I is incorrect but statement II 1s correct

Options :

686340167849. 1
686340167850. 2
686340167851. 3
686340167852. 4

Question Number : 63 Question Id : 68634042496 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

:ﬁ%ra*laiwﬁﬂﬂﬂ%

PYTL: AR Az) = u+ iv D [ARAND BT B, G » YT v ST GHaId] B g

DU 1T - TS A7) Tefdl T C P Sf=a G HeIel Gop TR AR § Ul o, C P SR DS [ § . T
f(a]:LIMd:

iz z—a

SWRIad HY- & 3M1aild H, - AU Y fasedi § 9 9a8 Sugad 3R &1 T4+ Difey
1. BY 1 3R 1 G Tt §
2. HY 1 3R 11 ST TTerd &
3. FYT 1 HEl § , Wi BYUF 11 7ad §

4. PYTITAd 6 . AfPT HUT 11 Tl &

Options :
686340167849. 1
686340167850. 2



686340167851. 3
686340167852. 4

Question Number : 64 Question Id : 68634042497 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[
ey

The integral (xz + _1.3 ] dy dx is:

|-

[ ]

b | =

L)
L | =

4.1

Options :

686340167853. 1
686340167854. 2
686340167855. 3
686340167856. 4

Question Number : 64 Question Id : 68634042497 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fi
HHIPelq ”(x3+_1'3]c{1= dx ©:
0d - '

1
0

| )

ta | —

i | =

4.1

Options :

686340167853. 1
686340167854. 2
686340167855. 3
686340167856. 4

Question Number : 65 Question Id : 68634042498 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

. 3 eyt X
Double integal _[n In % equals:
1.|l x°+ _l'"
2
.=
3
54
3
1
3 =
3
8
Y
=
.
Options :

686340167857. 1
686340167858. 2
686340167859. 3
686340167860. 4

Question Number : 65 Question Id : 68634042498 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ot

R e [T 22 R E:

\H'“ + =

)
Ll | b2

L | 4=

) | =

L | oo

Options :

686340167857. 1
686340167858. 2
686340167859. 3
686340167860. 4

Question Number : 66 Question Id : 68634042499 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



If ij(.x- + ¥ )dydx = A, where R is the region bounded by x=0,x=2, y=x,y=x+2,. then % is equal to:

F

| )
e

4.6

Options :

686340167861. 1
686340167862. 2
686340167863. 3
686340167864. 4

Question Number : 66 Question Id : 68634042499 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e [ (x+y)dydr = AT x=0,x =2,y = x,y = x+2, GRI URES & 8. aa%a?m%‘:
1.1
2.4
3.12
4.6

Options :

686340167861. 1
686340167862. 2
686340167863. 3
686340167864. 4

Question Number : 67 Question Id : 68634042500 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The value of double mtegal J'L _[ e " ydydx is equal to:
0 0

=

[
-2
S

Options :

686340167865. 1
686340167866. 2
686340167867. 3
686340167868. 4

Question Number : 67 Question Id : 68634042500 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
B wHed [ ¢ ydydy TTHM SRIRE:
0 W0 "

LJx
27

[

b | —
N

4.

Jz

da | —

Options :

686340167865. 1
686340167866. 2
686340167867. 3
686340167868. 4

Question Number : 68 Question Id : 68634042501 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The volume generated by the revolution of the cardioid r = (1 —cos#) about its axis is:

1. —ra’

[ )

Options :

686340167869. 1
686340167870. 2
686340167871. 3
686340167872. 4

Question Number : 68 Question Id : 68634042501 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

G 3Hef & TRI TRP BISIHGS r = a(1-cos 0) B TRBHU GRT SI-d HFT ¢ -

| )

Options :

686340167869. 1
686340167870. 2
686340167871. 3
686340167872. 4

Question Number : 69 Question Id : 68634042502 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements
Statement I : In cylindrical co-ordinates , Volume = _{_” rdrd gdz
-
Statement IT : In spherical polar Co-ordinates. Volume = H_[" “cos @ drdOdg
o

In the light of the above statements ., choose the correct answer from the options given below

1. Both Statement I and Statement II are true

| )

. Both Statement I and Statement II are false
3. Statement I 1s true but statement I is false

4. Statement [ is false but statement II is true

Options :

686340167873. 1
686340167874. 2
686340167875. 3
686340167876. 4

Question Number : 69 Question Id : 68634042502 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

E EEGICACURI N
BYT 1 : SOAIBR SR T, sirgad Volume = ([[ rdrdgdz

FUTII : TATRR %ﬁ:}'q faderie |, smgge Volume = er2 cos @ drdOdg
s

SWRIGd DY & Al § | i iU U fae el § 8 969 Sugad Ik &1 99 Hifog
1. PYT 1 AR 11 A FET &
2 B AR IS Tad &

3. FYTITRIE. AT YT N Tad &
4. BYT1TAd § . Afs HYT 11 Gl &

Options :

686340167873. 1
686340167874. 2
686340167875. 3



686340167876. 4

Question Number : 70 Question Id : 68634042503 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1.135

[

.90

3. 150

4. 120
Options :
686340167877. 1
686340167878. 2

686340167879. 3
686340167880. 4

Question Number : 70 Question Id : 68634042503 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
. " m - =
afg [[[ oz drdydz = — W6l m.n SEEHISH & AUTR:0<x< 1,15 y<2,22 <3, T8 mn TRIER 2
R

1. 135

[ ]

.90
3. 150
4. 120

Options :

686340167877. 1
686340167878. 2
686340167879. 3
686340167880. 4

Question Number : 71 Question Id : 68634042504 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : one is labelled as Assertion A and the other is labelled as Reason R

Assertion A : The integral m (x*+ )" +2° ) elxdvelz taken over the volume enclosed by the sphere
4r

o] . 2 .
X“+y +z°=lis

I ol 1
Reason R : LLA‘ ca’.mfr = E

In the light of the above statements. choose the most appropriate answer from the options given below

1. Both A and R are correct and R 1s the correct explanation of A

2

. Both A and R are correct but R 18 NOT the correct explanation of A
3. Ais correct but R is not correct

4, A is not correct but R is correct

Options :

686340167881. 1
686340167882. 2
686340167883. 3
686340167884. 4

Question Number : 71 Question Id : 68634042504 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

19 & P U MU T : TP S{MUFHYT ( ASSERTION A) & FU ¥ [GRad § dl GERT 39 HRUI (REASON
R)F U .
AUHYT AT 2 4 2 4 2% = | GRIIREG SR W feran a1 gHrd m‘(x + 3% +2°) dclydz 1

m=r4: g

PRUIR : L: L: x dxdy = %

SWRIgd BY & il | . i U U fa el § 8 969 Sugad Ik &1 99 Siforg
1. A SRR &Ml 96 § SRR . A DI el RS §
2. AR R G 981 8. AT R . A P! TE! AR T8l &
3. A¥Gl g dfb R Tl 6l &
4 AGE T g AfPIR TR ©

Options :

686340167881. 1
686340167882. 2
686340167883. 3



686340167884. 4

Question Number : 72 Question Id : 68634042505 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

. . . ¥ 2
The volume of the cylindrical column standing on the area common to the parabolas = = x ¥~ = yand cut

off by the surface 7 = |2 4 y — x2 is:

569
280
569
140
569
210
569
70

| ]

Options :

686340167885. 1
686340167886. 2
686340167887. 3
686340167888. 4

Question Number : 72 Question Id : 68634042505 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ATl 2 = x, x? = P IHIFT EARGS TUT Y§ 2z = |2+ y — > GRI HGH T TTADR KH BT
AT &

569
280

569
140
569
210
RE)

70

| ]

Options :

686340167885. 1
686340167886. 2
686340167887. 3
686340167888. 4



Question Number : 73 Question Id : 68634042506 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements

1 1 -1
Statement I : If y = ;(2;; + 1,.1) and p = :(u -y ) then dydy = — dudv
. 3 z
&
Statement IT : Area in Polar Co-ordinater = j- J- rdBdr
[ "

In the light of the above statements , choose the correct answer from the options given below

1. Both Statement I and Statement II are true

| )

. Both Statement I and Statement II are false

[F¥]

. Statement I is true but statement II 1s false

4, Statement [ is false but statement II is true

Options :

686340167889. 1
686340167890. 2
686340167891. 3
686340167892. 4

Question Number : 73 Question Id : 68634042506 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



CI AR IC TR

FUAI- TG x = (2u - l-’)ﬂm)‘ = %(H - \-‘). dd dxdy = %Icfzfa’v

|
=
J
& s

Y YAl el ﬁ&mmmznnf&#'

& n

SRIGd DY & il | | i U U fab el § 8§ 968 3ugad Ik &1 98- Siferg
1. BY 1 3R 11 T Tt &
2. Y1 AR 11 &1 Tad &
3. YT 1 EI B . Qifch YT 11 7Teid 8

4 FYTITEd S . Al HUT I TSI &

Options :

686340167889. 1
686340167890. 2
686340167891. 3
686340167892. 4

Question Number : 74 Question Id : 68634042507 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

: : . 2 2 55 . 2 2 -
The surface area of the cylinder x* + z° = 4 inside the cylinder X~ + V"~ = 4 is:

1.4

[ )
es]

4. 32

Options :

686340167893. 1
686340167894. 2
686340167895. 3
686340167896. 4

Question Number : 74 Question Id : 68634042507 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



S X’ + 27 = 4% SR AT Y+ = 4 BT ydig AT § -

1.4

[
[wa]

3. 16
4. 32

Options :

686340167893. 1
686340167894. 2
686340167895. 3
686340167896. 4

Question Number : 75 Question Id : 68634042508 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Integrating factors of the equation y ( 2xy + &) dx — e dy =0 is:

|
].. e
|1I

[ )

Options :

686340167897. 1
686340167898. 2
686340167899. 3
686340167900. 4

Question Number : 75 Question Id : 68634042508 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



THIERT g (2x + €°) dx — &* dy = 0 BT GAD AT 0D ©-

[ B

Options :

686340167897. 1
686340167898. 2
686340167899. 3
686340167900. 4

Question Number : 76 Question Id : 68634042509 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The orthogonal trajectory of the cardioid r = a(1 + cos#) , a being the parameter is:

l.r=a(l-cosé)

[

r=acosf

LF¥]

.r=a(l+cosf)
4. r=a(l+sin@)

Options :

686340167901. 1
686340167902. 2
686340167903. 3
686340167904. 4

Question Number : 76 Question Id : 68634042509 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



BISIAES r = a(1+ cos @) T AGHIVIY TY, TGl 2 WEA . ©: -
1. r = a(1-cosd)
2. r=acost
3. r=a(l+cosd)
4. r=a(l+sin0)

Options :

686340167901. 1
686340167902. 2
686340167903. 3
686340167904. 4

Question Number : 77 Question Id : 68634042510 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List II

LISTI LISTII
Differential Equation Particular Integral (P.I)
X
A (D +6D+9)y=e" L |—sin3x
] I
B. |(D*-6D+9)y=3 II. [-—cos3x
D
1 |
C. { D+ 4])' =cosdx . |—
3
2 1 3x
D. |(D® +9)y=cos3x V. e
)
36

Choose the correct answer from the options given below:
LA-TVB-IL.C-II,D-I
2ZA-NILB-IILC-1.D-IV
JA-IINLB-LC-TI.D-IV
4 ALB-IV.C-II.D-III

Options :
686340167905. 1
686340167906. 2

686340167907. 3
686340167908. 4

Question Number : 77 Question Id : 68634042510 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

i 1% 9y g 11 &1 i Sifen

Gl A

TS FHIHII oy gurea
x

A [(D?+6D+9)p=¢ 1 [—sin3x
a i ]

B. [(P*-6D+9)y=3 IL |——cos3x
. 1

C. |(D* +4)y=cos3x I | —

D. {DE +9)y = cos3x V. —€3x

i fau v f[deedl § O 98l 3R &1 904 Difew

LA-IVB-IILC-II,D-I

[ ]

CA-ILB-ILC-1I,.D-IV
JA-ILB-LC-II.D-IV
4 A-LB-IVC-II.D-III

Options :

686340167905. 1
686340167906. 2
686340167907. 3
686340167908. 4

Question Number : 78 Question Id : 68634042511 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The solution of the differential equation F_J +y=3e"y"1s:
(X

l ]
1. —=6&" +ce™™*
¥

1 -

2. —5=be "+ce”
.1.I_
l K 2
3. —=be" +ce
.'l.l_
| —x i
4. — =6 +ece ™
.t-_
Options :

686340167909. 1



686340167910. 2
686340167911. 3
686340167912. 4

Question Number : 78 Question Id : 68634042511 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o dl-‘ a 2
Haddhd HHIDHIU] j+_1) =3e"y’ &1 50 o-
u

1 :
2. —=6e "+ee”
1 3
ke |
3. —=6e"+ce "
.1.I
| el
4. — =6 +oe
.l.-_
Options :

686340167909. 1
686340167910. 2
686340167911. 3
686340167912. 4

Question Number : 79 Question Id : 68634042512 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

"
. - X -\ R .
If particular Integral (PI) of (D* —4D+4)y = x'e™"is ™ s then ;)% 4 42 4 1 1s equal to:

e

1.29

| )

.30
3. 31
4, 28

Options :

686340167913. 1
686340167914. 2
686340167915. 3
686340167916. 4

Question Number : 79 Question Id : 68634042512 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



H 3 3
qlS (D% — 4D +4)y = x> BT R FHIDA o™ 28, T m” +n” +1 SRR B:
' 20

1. 29

b2

.30
3:.31
4. 28

Options :

686340167913. 1
686340167914. 2
686340167915. 3
686340167916. 4

Question Number : 80 Question Id : 68634042513 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I : Mdx + Ndy = 0 is said to be an exact differential equation if it satisfies the following condition

aM _oN

ox oy
iy g : . : (oM aNY) .,
Statement II : If Mdx + Ndy = 0 1s not an exact differential equation and - L ————|=/f(x). then
N ooy ox
O

In the light of the above statements. choose the correct answer from the options given below

1. Both Statement I and Statement II are true

| )

. Both Statement I and Statement II are false
3. Statement I is true but Statement IT is false

4. Statement I is false but Statement II is true

Options :

686340167917. 1
686340167918. 2
686340167919. 3
686340167920. 4

Question Number : 80 Question Id : 68634042513 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



CI AR IC TR

. M _aN
BUT 1 : Mdx + Ndy = 0 UTAY SHaae GHie=0 Heardl & afs ug uideey =

ﬁﬂgﬁﬂﬂtﬁ%’i

i

B 11 : T Mdx + Ndy = 0 TUTTY The THIDHR0 T8l & qer L"“ f’*’}:,;-{x).aaemww

oy oy )
L I

SWRIdd By & 3fald & i 3T 7 fadedl § ¥ el SR &1 99 Sifog
1. P IR 11 SHI T &
2. BYAI SR GHI 3§
3. PYTIIA E . AP BYT 1 A &

4. PYIITT S, AfpT HYT I Id o

Options :

686340167917. 1
686340167918. 2
686340167919. 3
686340167920. 4

Question Number : 81 Question Id : 68634042514 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

- C
Statement I : If x*y" —2xp'— 4y =x*. then C.F.=—L+C a,x4
X -

Statement IT : If ( D* —8D +1 5} y = 0. then auxiliary equation has equal roots.
In the light of the above statements. choose the correct answer from the options given below

1. Both Statement I and Statement I are true

| )

. Both Statement I and Statement II are false
3. Statement I 1s true but Statement I is false

4, Statement [ 1s false but Statement II is true

Options :

686340167921. 1
686340167922. 2
686340167923. 3
686340167924. 4



Question Number : 81 Question Id : 68634042514 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

B ERARCAICACALE (U

L3 ] (-‘
BUTL: TG 2725y~ 4y = x%. T YD B CF. = L+ Cpx*
X

PUTIL : UM (D° -8D+15) y =0, T YETID FHIHRU FHI e Il ©

SWRIGd HYU & 3alld H . i1 fGu e foedi § 9 €9 Suga IR & 991 Sifoe
1. YT I AR 11 S Tl &

YA 1 R 11 G T §

 FYT 1 TR § , Wi HYA 11794 §

4. PYTITAA G . AT PUT I ST §

| )

L¥ 5]

Options :

686340167921. 1
686340167922. 2
686340167923. 3
686340167924. 4

Question Number : 82 Question Id : 68634042515 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The general solution of the differential equation y" + y = 6sinx is:

L y(x)=Ce" +C,e " +3xcosx

| )

.y(x)=Ce" +C,e™ —=3xcosx

Lad

.¥(x)=C cosx+C,sinx—3sinx
4. y(x)=C,cosx+C,sinx—3xcosx

Options :

686340167925. 1
686340167926. 2
686340167927. 3
686340167928. 4

Question Number : 82 Question Id : 68634042515 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



3] GHIERU ¥ + ¥ = bsin x T U B ©-

[a—y

.¥(x)=Ce" +C,e™" +3xcosx

| )

.¥(x)=Ce" +C,e™" —3xcosx
3. y(x)=C|cosx+C,sinx—3sinx
4. y{x)=C, cosx+C,sinx—3xcosx

Options :

686340167925. 1
686340167926. 2
686340167927. 3
686340167928. 4

Question Number : 83 Question Id : 68634042516 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The general solution of the differential equation 2x* 'i- Y+ .r“jr'i— 6y =0 18:
X’ ox

_ c,
1. p(x)=C, x* +—2
(x)=6 i
y 3
“ y(x)=C, " +C, x*
C1 3
3. y(x)==L+C, x?

X -

3
- y(x}=C, x 2+ C, x*

Options :

686340167929. 1
686340167930. 2
686340167931. 3
686340167932. 4

Question Number : 83 Question Id : 68634042516 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HTH T FHIPRT 2292 D 4y _ 0 BT OIS 5T &

Fr o oy
. 5.
1.vix)=C, x +—=
v(x)=C W'T

| )

' _1'|:.T}=C| 32 +C, .\'é

C
3. y(x)= —-:l— +0x

o -

3
¥

o
3

4. ¥(x)=C, x 2+C, x*

Options :

686340167929. 1
686340167930. 2
686340167931. 3
686340167932. 4

Question Number : 84 Question Id : 68634042517 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LIST I Differential Equation LISTIILF
A |y'+y=sinx L |x
1
5
B. 1:'— i H:|—
¥=3 :
i l X
Cly+—y=¢g I |g*
X
1 l =
D |y'——y=1 IV |o=
X

Choose the correct answer from the options given below:
1LA-ILB-II.C-TL.D-1IV
2ZA-ILB-ILC-IV.D-I
JA-II.B-IV.C-1.D-II
4 A-IVB-1L.C-II.D-III

Options :
686340167933. 1
686340167934. 2

686340167935. 3
686340167936. 4



Question Number : 84 Question Id : 68634042517 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

JR1S gy g1 @1 e Sifse

1 I

y'+y=sinx| L

X

1
Blyp'—pyp=x|1L |—
i X

C.|y+—y=e'|IL|x

.

D.|y'=—y=1|1v |~
7

=i fau U f[deeq] § O 98l 3R &1 904 DIl

1LA-ILB-IL.C-IILD-IV

2ZA-IILB-IILLC-IV.D-I
JA-ILB-IV.C-L.D-II
4 A-IVB-L.C-II.D-1III

Options :

686340167933. 1
686340167934. 2
686340167935. 3
686340167936. 4

Question Number : 85 Question Id : 68634042518 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : one is labelled as Assertion A and the other is labelled as Reason R

Assertion A : A given family of curves is said to be 'self - orthogonal' if the family of orthogonal trajectory is
the same as the given family of curves

Reason R : For finding orthogonal trajectory , replace ﬁ"{'f’ = ﬂi" ) [ &y ‘{_h'} =4
dr ;_’.l_‘]; | dx

In the light of the above statements. choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A
2. Both A and R are true but R 1s NOT the correct explanation of A
3. Ais true but R 1s false

4. A s false but R 1s true

Options :

686340167937. 1
686340167938. 2
686340167939. 3
686340167940. 4

Question Number : 85 Question Id : 68634042518 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

19 &l PUA (U § : U S UHYT (ASSERTION A) & =0 H [T © ol §IRT 39D PRU[ (REASON
R)F &I .

ﬁwgﬂa:mmwmwwmw%uﬁﬁaﬁvﬁ&waﬂwmmwai
AR |

RO T I TSR (1. L )= 0 8 Ly L e

\ dx dx dy
IR HYF & Adid 5, i AU U fasmedi 5 9 el 3= &1 994 S
1LARRIEFI TU ¢ 3RR . ADI ol A& &
ARRIFIUE. APIR A D! TS ORI TR &

AT APIR 3ET B

[ ]

Laa

4 ATIE. APTRIAT

Options :

686340167937. 1
686340167938. 2
686340167939. 3



686340167940. 4

Question Number : 86 Question Id : 68634042519 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A A P B |
tr=xt+y+ zk andr=+4x" "‘.1'2 + 22 , then gmd[—) 18 equal to :

2

|

|~

Options :

686340167941. 1
686340167942 2
686340167943. 3
686340167944. 4

Question Number : 86 Question Id : 68634042519 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

afe 7 = xi +J,j+gk ﬁ‘lj‘[r=~.!.1r2+_1'E+z2 .ﬂﬁg}‘cm"[lwﬁﬁl@?%:
r)

| E)




Options :

686340167941. 1
686340167942. 2
686340167943. 3
686340167944. 4

Question Number : 87 Question Id : 68634042520 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

. - - B = e E 7 2 5 o
If F=(x+2y+w)i +(bx—3y—z)j+(dxr+cy+2:z)k 1s irrotational . where a, b and ¢ are constant . then a< + b“ +¢“ is
equal to :

1.

Lh

| B
o |

Options :

686340167945. 1
686340167946. 2
686340167947. 3
686340167948. 4

Question Number : 87 Question Id : 68634042520 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

qﬁ F=(x+2v+as)i +(bx -3y —z) / +{dx+oy + Ez}lﬁ; J{Eiuﬁ% 2 G‘E-Ta. bdilc @W% dd 32 I !JE + E2 W%

1.5

| B)
|

4. 21

Options :

686340167945. 1
686340167946. 2
686340167947. 3
686340167948. 4

Question Number : 88 Question Id : 68634042521 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



If A=(3x"+ ﬁ_v']f ~14yzj +20xz°k , then the line integral J Adr from (0.0.0)to( 1. 1.1). along the curve C
{.
x =t,y=t, z=t is:

1.7

| )
h

4.4

Options :

686340167949. 1
686340167950. 2
686340167951. 3
686340167952. 4

Question Number : 88 Question Id : 68634042521 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
i A=(3x7 +6y)i ~14)5 +20xz% TF (0.0, 0) (L, L, NTP TP C; x =t,y =1t z=t D WY HIY ¥l
SISE J-:\-d? %
e

1.7

[ ]
o

T
L

4.4

Options :

686340167949. 1
686340167950. 2
686340167951. 3
686340167952. 4

Question Number : 89 Question Id : 68634042522 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



b ]
The directional derivative of @(¥.0.2) = x"yz+4xz" at ( 1.-2. 1) in the direction of 27 — j -2k is

| )

Options :

686340167953. 1
686340167954. 2
686340167955. 3
686340167956. 4

Question Number : 89 Question Id : 68634042522 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2 — -2k BIRRTH (1.2, 1) W (. p.2) = xyz +4x2? PTIEP - HABEAA G -

| ]
d | 2

Options :

686340167953. 1
686340167954. 2
686340167955. 3
686340167956. 4

Question Number : 90 Question Id : 68634042523 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A #-{__ F.dr = _” Curl F.fds

g

Bjﬁridr Nely = H (v _ﬁ’m”_

2\ ox dy

]d\.c{;

C. grad is a vector normal to the surface @ =C
D. V@ is the maximum rate of change of @
choose the correct answer from the options given below

1. A, B. D Only

b2

B. C.D Only
3.A.C.D Only
4. A, D Only

Options :

686340167957. 1
686340167958. 2
686340167959. 3
686340167960. 4

Question Number : 90 Question Id : 68634042523 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A #-{__ F.dr = _” Curl F.fds

g

f‘h ﬁ’m”
- -]a’u:{;
E‘_u

Bjﬁrfdr Nely = H

C. gl-adqucﬂ:Cﬂ?ma{f\lmﬁ%
D. Vo, o B 3ifiemay ufkad - s 8
e fau e fawedl o 9 98 SR @1 90 Biforg
1.9dd A, B.D
2. Hdu B, C,D
3. PAUA.C.D
4. PIAA.D

Options :
686340167957. 1
686340167958. 2



686340167959. 3
686340167960. 4

Question Number : 91 Question Id : 68634042524 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

A =
cg . ay : ; ; ,

Statement I : If ¢(x, »), ¥ (x,»),——and—— are continuous functions over region R bounded by simple closed
ay ax

| dy o
curve C in xy-plane . then C.{)E : (r,if'd\' + d‘n) - ﬂ [i = i—{'ﬂ. xdy

s\ Ox Oy

Statement II ; F be a vector point function and volume V enclosed by a closed surface . then volume integral =
[[[Fav
.
In the light of the above statements, choose the most appropriate answer from the options given below
1. Both Statement I and Statement II are correct

2. Both Statement I and Statement II are incorrect

Statement I is correct and Statement I are mcorrect

4. Statement [ 1s incorrect but Statement II is correct

Options :

686340167961. 1
686340167962. 2
686340167963. 3
686340167964. 4

Question Number : 91 Question Id : 68634042524 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



CI AR IC TR

q
PUTL: T P (x, p), P (x, v)';—é qur Z—ny—ﬂwm T 93 Had a@ gRI URES &5 R IR Had
v X

TG . ﬂﬁ'g} (gdx +wdy)= ﬁ[ ?f —;—%}nﬁy

o 11 - F AR g e 8 quT S v Si9d 98 511 URes 8. 09 e s [|] Fav

SWRIad HYU- & 31l H . i1 fGu Ty fadbedi ¥ 9 &9 Sugad Ik &l 98- Sifoy
1. Y1 AR IS gel 8
HYTI ARG TAd §

[ ]

FHYTITEI e . AT FUF I T ®
YT § , AfbI By T UE &

L]

=

Options :

686340167961. 1
686340167962. 2
686340167963. 3
686340167964. 4

Question Number : 92 Question Id : 68634042525 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements : one 1s labelled as Assertion A and the other is labelled as Reason R
Assertion A : The given vector F=(y” —z° +33z - 2x)i + (3xz + 2xv) j + (33y - 23z + 2z) k is solenoidal
Reason R : A vector F is said to be solenoidal if 4y F = 0
In the light of the above statements. choose the correct answer from the options given below
1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A

3. Ais true but R is false

4, A is false but R is true

Options :
686340167965. 1
686340167966. 2



686340167967. 3
686340167968. 4

Question Number : 92 Question Id : 68634042525 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 g1 U UL § : U S UPHUH (ASSERTION A) & =0 T [ARad § df §IRT 3HP PRU[ (REASON
R)F &I .

SHDYUT A - T TGN FIG F=( 32 - 22 + 33z~ 20 )i + (3 + 200) ]+ (3 — 202 + 22 ) ARANCIR T ©
BRUIR : BIE W F uRATa g weara 2 af div F = 0
SRIGd YA & AP 5, A1 S0 U [dwed § T Tel 30 &1 994 Dol
1. A SRR I 9A T AR R . A D! 96l I 3
A IR R Gl § B, AifdhT R. A B Ul AT 61 ©
3. AFIE. AP R ST E
AT g, APTR IA T

[ ]

=

Options :

686340167965. 1
686340167966. 2
686340167967. 3
686340167968. 4

Question Number : 93 Question Id : 68634042526 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If the curl of vector A = (2x1_ "= 3)3)5 -|-(3n('E +axz —4z2° )_; - (33;1: +f)).-z)k: is zero , thena + b is

equal to :

1.8

| )

3

4. 11

Options :

686340167969. 1
686340167970. 2
686340167971. 3
686340167972. 4



Question Number : 93 Question Id : 68634042526 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

afe TEw A = (2:c_1-'—3yz)f+(x3 +axz —422)}—(33{13—1-5)-‘2)1(& BT Curl LIT. TWa+b
W & |

1.8

| ]
|
L]

Laa
o

4. 11

Options :

686340167969. 1
686340167970. 2
686340167971. 3
686340167972. 4

Question Number : 94 Question Id : 68634042527 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LIST II
Alg= 1,3,V¢m (LLY) |L|f
B [g=x,Vpa (1.-1D 1| gt

p=2x,Vgat (0.1 (m|27
D |¢=3z"Vgat (1.2-1) |V |F

Choose the correct answer from the options given below:

1LA-ILB-IL.LC-ILD-IV

b2

CA-ILLB-IV.C-1.D-III
JA-ILB-LC-IV.D-1II
4 A-IV.B-IIILC-II.D -1

Options :

686340167973. 1
686340167974. 2
686340167975. 3
686340167976. 4

Question Number : 94 Question Id : 68634042527 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Tt 1% A1y G 11 BT i Sy

el T I
Alg=y* vga 11y |1 ;
B.[p=x,Va (1.-1.2) |1 [ ¢4
C|p=2xVgar (0.1 [m|2]
D.|¢g=32"Vg a (1.2-1) |IV|F

= fau U faered] § O 981 3R &1 904 Hifo

L A-EB-TLC-TID.IY
2 A-ILB-IVC-ED-II
O 8 s M O ||
4KV L G- 5 -0

Options :

686340167973. 1

686340167974. 2

686340167975. 3
686340167976. 4

Question Number : 95 Question Id : 68634042528 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A. vector V is said to be solenoidal if div V=0
B. Vector F is said to be irrotational ifcurl F = ¢

o B —
C. If F represents the force acting on a particle along arc AB . then total work done J Fxdr
A
D. Volume integral J-” FxdV
N

choose the correct answer from the options given below
1. A.B. C Only
2.A . B.D Only
3.B.D Only

4, A, B Only

Options :



686340167977. 1
686340167978. 2
686340167979. 3
686340167980. 4

Question Number : 95 Question Id : 68634042528 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A iRV aiAiee g searar s aig v =0
B. UREYF sruft sgarai 8 afe F = §
. Hﬁ?ammﬁwwwaﬁ@wﬁméﬁﬁﬁmwﬂ: Fx dr

D. g JHGA Hj FxdV

=i fau U f[deeql § O 98l 3R &1 904 DIl
1.PdA A, B. C
2. AT A.B. D
3. %4 B, D
4. HAd A, B

Options :

686340167977. 1
686340167978. 2
686340167979. 3
686340167980. 4

Question Number : 96 Question Id : 68634042529 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
The region represented by the inequation system x,y 20, ¥25x+y 23 is
1. Unbounded in first quadrant
2. Unbounded in first and second quadrants
3. Bounded in first quadrant
4. Bounded in first and second quadrant
Options :
686340167981. 1

686340167982. 2
686340167983. 3



686340167984. 4

Question Number : 96 Question Id : 68634042529 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
IS HPM x.y 20,72 5x+123 GRIWGid 89§ -

1. 9yH IquE | saives
2. Uy a1 fgdig aquii § sakes
3. Uyl Iquie d gias
4. 9y T g Iquii @ e

Options :

686340167981. 1

686340167982. 2

686340167983. 3
686340167984. 4

Question Number : 97 Question Id : 68634042530 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The maximum value of Z = x + 2y subjected to the constraints x +2y2100,2x -y <0,2x+y < 200,x 20,y 20 , is

1. 250

[ )

. 100
3.350
4. 400

Options :

686340167985. 1
686340167986. 2
686340167987. 3
686340167988. 4

Question Number : 97 Question Id : 68634042530 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



AT x+292100,2v -y <0,2x+y<200,x20,y20, & AT z=x+ 2y Pl 3 7 ©:

1. 250

b2
—
=
=

3. 350
4. 400

Options :

686340167985. 1
686340167986. 2
686340167987. 3
686340167988. 4

Question Number : 98 Question Id : 68634042531 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following set 1s convex ?

1. {(\]) X% 4 _;-'2 = I}

{ } = r}
A { (x,y) 31‘ +4y° }RE
4. {(x.y):y22,y<4

Options :

686340167989. 1
686340167990. 2
686340167991. 3
686340167992. 4

Question Number : 98 Question Id : 68634042531 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



frafafea ¥ Y- T=g Eua © -

1. {[.\‘,_]:}I.‘(’E + _1,-‘2 = I}

2{(1 _r):y2 > _‘c}
3. {{11] 3x" +41° 2 5}
4, {(_‘c,j»‘):}-'éz,_vsa’li

Options :

686340167989. 1
686340167990. 2
686340167991. 3
686340167992. 4

Question Number : 99 Question Id : 68634042532 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
If there 1is no feasible region in LPP . then the problem has :

1. Unique solution
2. Infinite solutions
3. Unbounded solution
4. No solution

Options :

686340167993. 1

686340167994. 2

686340167995. 3
686340167996. 4

Question Number : 99 Question Id : 68634042532 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gl ¥Es UHm o 4 olg Ui g9 89 961 6. a9 9581 3l :
1. g gae

AL

 HURES A8

BIITATE €

[

L]

=Y



Options :

686340167993. 1
686340167994. 2
686340167995. 3
686340167996. 4

Question Number : 100 Question Id : 68634042533 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

From the given system of constraints

A 3x+5y<90
B.x+2y=30

2x+y=30
D x=0,p=0

The redundant constraint is

1.D

| )

A
3.B

4.C

Options :

686340167997. 1
686340167998. 2
686340167999. 3
686340168000. 4

Question Number : 100 Question Id : 68634042533 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

el & feu e e .

A 3x+3y=90
B.x+2y=30
2x+y<30
D.xz20,y=0
H9 sffoe odRIY § :
1.D
2. A
3.B



Options :

686340167997. 1
686340167998. 2
686340167999. 3
686340168000. 4



